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QUESTION 1

The following SAS code is submitted: 

%macro houses(dsn = houses,sub = RANCH); 

data anddsn; 

set sasuser.houses; 

if style = "?quot;; 

run; 

%mend; 

%houses(sub = SPLIT) 

%houses(dsn = ranch) 

%houses(sub = TWOSTORY) 

Which one of the following is the value of the automatic macro variable SYSLAST? 

A. work.ranch 

B. work.houses 

C. WORK.RANCH 

D. WORK.HOUSES 

Correct Answer: D 

 

QUESTION 2

Which of the following is true about the COMPRESS=YES data set option? 

A. It is most effective with numeric data that represents large numeric values 

B. It is most effective with character data that contains patterns, rather than simple repetitions 

C. It uses the Ross Data Compression method to compress numeric data 

D. It is most effective with character data that contains repeated characters 

Correct Answer: D 

 

QUESTION 3

The following SAS program is submitted: 
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%let a = cat; 

%macro animal(a = frog); 

%let a = bird; 

%mend; 

%animal(a = pig) 

%put a is anda; 

Which one of the following is written to the SAS log? 

A. a is anda 

B. a is cat 

C. a is pig 

D. a is bird 

Correct Answer: B 

 

QUESTION 4

Which SET statements option names a variable that contains the number of the observation to read during the current
iteration of the DATA step? 

A. OBS=pointobs 

B. POINT=pointobs 

C. KEY=pointobs 

D. NOBS=pointobs 

Correct Answer: B 

 

QUESTION 5

Which PUT statements will be the log if the program is submitted at the beginning of a new SAS session? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: A 
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